
1. Who is the first character that offers to hire the 
speaker in the poem?
A. A child B. A king
C. An old man D. A fair maid (B)

Explanation : The speaker first encounters a king in 
the morning who offers to hire him with his power, 
but the offer is declined.

2. What does the king represent in the poem?
A. Wisdom B. Wealth
C. Power D. Happiness (C)

Explanation : The king, described as holding a sword, 
symbolizes power, which the speaker rejects as it 
does not lead to inner happiness.

3. Why does the speaker turn down the old man’s 
offer?
A. He dislikes the old man.
B. The offer was not genuine.
C. He values freedom over money.
D. The old man’s coins were not enough. (C)

Explanation : The speaker declines the old man’s offer 
of money, signifying that material wealth cannot 
buy true happiness or freedom.

4. What does the fair maid offer the speaker in the 
garden?
A. Her love B. A smile
C. Gold coins D. Innocence (B) 

Explanation : The fair maid offers her smile as a 
reward, but her happiness fades into sorrow, 
showing the transient nature of beauty and charm.

5. What time of day does the speaker meet the 
child?
A. Morning B. Afternoon
C. Evening D. Night (C)

Explanation : The speaker meets the child on the 
beach in the evening, symbolizing the end of the 
speaker’s search for fulfillment.

6. What is the significance of the child’s offer to hire 
the speaker for ‘nothing’?
A. It reflects innocence and simplicity.
B. It shows a lack of understanding.
C. It represents wealth in disguise.
D. It indicates hidden sorrow. (A)

Explanation : The child’s offer of nothing symbolizes 
freedom, innocence, and true happiness that 
comes without material attachments or power.

7. What is the main theme of the poem The Last 
Bargain?
A. The pursuit of power
B. The fleeting nature of wealth
C. The search for true happiness
D. The importance of beauty (C)

Explanation : The poem explores the speaker’s 
journey through power, wealth, and beauty, 
ultimately finding happiness in simplicity and 
freedom.

8. What literary device is primarily used in the line 
“The garden hedge was all a flower”?
A. Metaphor B. Personification
C. Imagery D. Hyperbole (C)

Explanation : The phrase creates a vivid image of the 
setting, helping readers visualize the beauty of the 
garden in bloom.

9. How does the speaker feel after accepting the 
child’s bargain?
A. Confused B. Free and happy
C. Regretful D. Lonely (B)

Explanation : The speaker feels liberated and joyful 
after accepting the child’s offer, as it aligns with his 
quest for genuine happiness and freedom.

10. What does the speaker’s rejection of material 
offers convey?
A. Disdain for society’s values
B. Desire for self-importance
C. Preference for emotional fulfillment
D. A lack of ambition (C)

Explanation : The speaker rejects power, wealth, and 
charm, indicating a preference for spiritual and 
emotional satisfaction over materialistic gains.
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